Date: 4/2/2024 Time: 1:56:42 PM CDT Page 1/148

		SIDENT CRATIC	-	UNITE	O STATES	6						
	Reg. Voters	Total Votes	JOSEPH BIDEN J		DEAN PHILLIPS	6	MARIAN	NE	FRANK "FRANKI LOZADA	E"	Over votes	Under votes
Jurisdiction Wide	004		0	75 000/	0		0		4	05 000/		0
BARR	224	4		75.00%	0	-	0	-	1	25.00%		0
BIRD	225	10	10	100.00%	0	-	-	-	-			0
BRIGHTON 1	924	31	29	93.55%	0	-		3.23%	1	3.23%)	0
BRIGHTON 2	994	28	24	85.71%	3	10.71%		3.57%	0	-	•	0
BRIGHTON 3	857	27	26	96.30%	0	-	· 1	3.70%	0	-	-	0
BRUSHY MOUND	549	26	23	88.46%	0	-	0	11.54%	0	-		0
BUNKER HILL 1	717	27	25	92.59%	2	7.41%		-	0	-		0
BUNKER HILL 2	734	32	29	90.62%	0	-	3	9.38%	0	-		0
BUNKER HILL 3	720	39	32	82.05%	5	12.82%	2	5.13%	0	-		0
CAHOKIA 1	1014	54	48	88.89%	3	5.56%	3	5.56%	0	-		1
CAHOKIA 2	1072	93	85	91.40%	2	2.15%	3	3.23%	3	3.23%)	0
CARLINVILLE 1	982	64	60	93.75%	2	3.12%	2	3.12%	0	-		0
CARLINVILLE 2	746	50	49	98.00%	0	-	· 1	2.00%	0	-		0
CARLINVILLE 3	970	42	38	90.48%	3	7.14%	0	-	1	2.38%	,	0
CARLINVILLE 4	817	41	39	95.12%	1	2.44%	. 1	2.44%	0	-	-	0
CARLINVILLE 5	637	32	28	87.50%	0	-	2	6.25%	2	6.25%)	0
CHESTERFIELD	493	25	15	60.00%	2	8.00%	6	24.00%	2	8.00%	,	0
DORCHESTER	1043	50	43	86.00%	4	8.00%		2.00%	2	4.00%		0
GILLESPIE 1	778	51	46	90.20%	1	1.96%		3.92%	2	3.92%		0
GILLESPIE 2	980	71	61	85.92%	5	7.04%		2.82%	3	4.23%		0
GILLESPIE 3	749	49	42	85.71%	1	2.04%		12.24%	0	1.2070		0
GIRARD 1	748	36	34	94.44%	0	2.0470	· 0	2.78%	1	2.78%		0
GIRARD 2	610	29	28	96.55%	1	3.45%		2.7070	0	2.7070	,	0
	437	29 15	20 15	100.00%	0	3.43%		-	0			0
	125	10	9	90.00%	0	-		- 10.00%	0			0
HONEY POINT												
MT. OLIVE 1	720	32	29	90.62%	1	3.12%		6.25%	0	-	•	
MT. OLIVE 2	778	53	50	94.34%	2	3.77%		1.89%	0	4.050/	•	0
MT. OLIVE 3	350	23	20	86.96%	1	4.35%		4.35%	1	4.35%		0
MT. OLIVE 4	366	29	28	96.55%	0	-	0	-	1	3.45%)	0
NILWOOD	394	11	9	81.82%	1	9.09%		9.09%	0	-	•	0
NORTH OTTER	633	25	23	92.00%	1	4.00%		4.00%	0	-	-	0
NORTH PALMYRA	548	15	14	93.33%	1	6.67%		-	0	-		1
POLK	473	15	14	93.33%	0	-	· 1	6.67%	0	-	•	0
SCOTTVILLE	218	6	4	66.67%	1	16.67%	, 1	16.67%	0	-	-	0
SHAWS POINT	391	32	31	96.88%	1	3.12%	0	-	0	-		0
SHIPMAN	873	38	33	86.84%	4	10.53%	, 1	2.63%	0	-		0
SOUTH OTTER	347	7	5	71.43%	1	14.29%	1	14.29%	0	-		0
SOUTH PALMYRA	485	20	15	75.00%	0	-	4	20.00%	1	5.00%)	0
STAUNTON 1	1159	58	50	86.21%	4	6.90%	3	5.17%	1	1.72%	,	0
STAUNTON 2	767	29	28	96.55%	0	-	0	-	1	3.45%	,	0
STAUNTON 3	936	46	42	91.30%	1	2.17%	. 1	2.17%	2	4.35%	,	0

2

2

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 49/148

D GIRARD 2 COMMITTEEPERSON (DEMOCRATIC) Reg. Total KEVIN LEN Over Under Voters Votes NICHELSON votes votes Jurisdiction Wide **GIRARD 2** 610 28 28 100.00% 0 28 100.00% 610 28 0 Total

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 50/148

		ARD CC CRATIC	DMMITTE ;)	EPERS	ON	
	Reg. Voters		LONDO SIMMO		Over votes	Under votes
Jurisdiction Wide		•				
HILYARD	437	16	16	100.00%	0	0
Total	437	16	16	100.00%	0	0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 51/148

D HONEY POINT COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide HONEY POINT 125 0 0 0 -125 0 0 0 Total -0

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 52/148

D MT. OLIVE 1 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Over Under Voters Votes No Candidate votes votes Jurisdiction Wide MT. OLIVE 1 720 0 0 0 -720 0 0 0 Total -

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 53/148

D MT. OLIVE 2 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Over Under Voters Votes No Candidate votes votes Jurisdiction Wide MT. OLIVE 2 778 0 0 0 -778 0 0 0 Total -

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 54/148

D MT. OLIVE 3 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Over Under Voters Votes No Candidate votes votes Jurisdiction Wide MT. OLIVE 3 350 0 0 0 -350 0 0 0 Total -

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 55/148

D MT. OLIVE 4 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Over Under Voters Votes No Candidate votes votes Jurisdiction Wide MT. OLIVE 4 366 0 0 0 -366 0 0 0 Total -

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 56/148

D NILWOOD COMMITTEEPERSON (DEMOCRATIC) Reg. Total Over Under Voters Votes No Candidate votes votes Jurisdiction Wide NILWOOD 394 0 0 0 -394 0 0 0 Total -

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 57/148

D NORTH OTTER COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide NORTH OTTER 633 0 0 0 -633 0 0 0 Total -0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 58/148

D NORTH PALMYRA COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide NORTH PALMYRA 548 0 0 0 -0 548 0 0 0 Total -0

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 59/148

D POLK COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide POLK 473 0 0 0 -473 0 0 0 Total -

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 60/148

D SCOTTVILLE COMMITTEEPERSON (DEMOCRATIC) Reg. Total Over Under Voters Votes No Candidate votes votes Jurisdiction Wide SCOTTVILLE 218 0 0 0 -218 0 0 0 Total -0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 61/148

D SHAWS POINT COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide SHAWS POINT 391 0 0 0 -391 0 0 0 Total -0

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 62/148

D SHIPMAN COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide SHIPMAN 873 0 0 0 -873 0 0 0 Total -

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 63/148

D SOUTH OTTER COMMITTEEPERSON (DEMOCRATIC) Reg. Total Over Under Voters Votes No Candidate votes votes Jurisdiction Wide SOUTH OTTER 347 0 0 0 -0 347 0 0 0 Total -0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 64/148

D SOUTH PALMYRA COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide SOUTH PALMYRA 485 0 0 0 -0 485 0 0 0 Total -0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 65/148

D STAUNTON 1 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide **STAUNTON 1** 1159 0 0 0 -0 1159 0 0 0 Total -0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 66/148

D STAUNTON 2 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide **STAUNTON 2** 767 0 0 0 -767 0 0 0 Total -0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 67/148

D STAUNTON 3 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide **STAUNTON 3** 936 0 0 0 -936 0 0 0 Total -0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 68/148

D STAUNTON 4 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide **STAUNTON 4** 823 0 0 0 -0 823 0 0 0 Total -0

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 69/148

D VIRDEN 1 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Over Under Voters Votes No Candidate votes votes Jurisdiction Wide VIRDEN 1 1138 0 0 0 -1138 0 0 0 Total -

0

0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 70/148

D VIRDEN 2 COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide VIRDEN 2 1021 0 0 0 -1021 0 0 0 Total -

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 71/148

D WESTERN MOUND COMMITTEEPERSON (DEMOCRATIC) Reg. Total Under Over Voters Votes No Candidate votes votes Jurisdiction Wide WESTERN MOUND 192 0 0 0 -192 0 0 0 Total -0

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 72/148

	R PRESIDENT OF THE UNITED STATES (REPUBLICAN)													
	Reg. Voters	Total Votes	RYAN L BINKLEY		RON DeSANTIS		NIKKI HA	LEY	DONALD TRUMP) J.	CHRIS CHRISTIE	Ξ	Over votes	Under votes
Jurisdiction Wide	004		0		0	4 5 5 0/	0	4 5 5 0/	10	00.040/	0			0
BARR	224	44		-	2	4.55%		4.55%		90.91%		-		0
BIRD	225	74		1.35%	2	2.70%		12.16%		83.78%		-		0
BRIGHTON 1	924	104		-	2	1.92%		5.77%		92.31%		-		0
BRIGHTON 2	994	108		-	0	-	10	9.26%		89.81%		0.93%		1
BRIGHTON 3	857	119		-	2	1.68%		7.56%		89.92%		0.84%		0
BRUSHY MOUND	549	142		0.70%	5	3.52%	34	23.94%		69.72%		2.11%		0
BUNKER HILL 1	717	87		1.15%	4	4.60%		5.75%		87.36%		1.15%		0
BUNKER HILL 2	734	79	0	-	1	1.27%	4	5.06%	73	92.41%		1.27%		0
BUNKER HILL 3	720	86	1	1.16%	4	4.65%	7	8.14%	74	86.05%	. 0	-		0
CAHOKIA 1	1014	97	0	-	1	1.03%	6	6.19%	89	91.75%	o 1	1.03%		0
CAHOKIA 2	1072	88	0	-	1	1.14%	6	6.82%	81	92.05%	. 0	-		0
CARLINVILLE 1	982	228	2	0.88%	7	3.07%	61	26.75%	146	64.04%	o 12	5.26%		0 2
CARLINVILLE 2	746	153	1	0.65%	5	3.27%	42	27.45%	96	62.75%	, 9	5.88%		0 2
CARLINVILLE 3	970	203	2	0.99%	10	4.93%	35	17.24%	150	73.89%	6	2.96%		0 1
CARLINVILLE 4	817	126	1	0.79%	5	3.97%	19	15.08%	100	79.37%	. 1	0.79%		0 1
CARLINVILLE 5	637	94	. 1	1.06%	2	2.13%	17	18.09%	73	77.66%	. 1	1.06%		0
CHESTERFIELD	493	78	0	-	1	1.28%	3	3.85%	73	93.59%	. 1	1.28%		0
DORCHESTER	1043	128		-	1	0.78%		2.34%		96.88%		_		0
GILLESPIE 1	778	63		-	2	3.17%		9.52%		82.54%		4.76%		0
GILLESPIE 2	980	111		-		2.70%		13.51%		82.88%		0.90%		0
GILLESPIE 3	749	60		-		1.67%		10.00%		83.33%		5.00%		0
GIRARD 1	743	81		1.23%	2	2.47%		12.35%		80.25%		3.70%		0
	610	76		1.2370	2	2.47 %		10.53%		86.84%		3.7070		0
GIRARD 2	437	49		-	2	2.03%	2	4.08%				-		0
HILYARD				-	2	-				95.92%		-		
HONEY POINT	125	23				8.70%	6	26.09%		65.22%		-		0
MT. OLIVE 1	720	72		-	•	1.39%		12.50%		84.72%		1.39%		0
MT. OLIVE 2	778	56		-	0	-	5	8.93%		91.07%		-		0
MT. OLIVE 3	350	57		-	0	-	-	5.26%		94.74%		-		0
MT. OLIVE 4	366	49		-	0	-	4	8.16%		91.84%		-		0
NILWOOD	394	73		1.37%		1.37%		1.37%		95.89%		-		0
NORTH OTTER	633	88	0	-	1	1.14%	14	15.91%	72	81.82%	· 1	1.14%		0
NORTH PALMYRA	548	100	0	-	5	5.00%	8	8.00%	87	87.00%	. 0	-		0
POLK	473	106	1	0.94%	3	2.83%	17	16.04%	80	75.47%	5	4.72%		0
SCOTTVILLE	218	41	0	-	0	-	10	24.39%	30	73.17%	o 1	2.44%		0
SHAWS POINT	391	97	0	-	1	1.03%	20	20.62%	76	78.35%	. 0	-		0
SHIPMAN	873	114	. 1	0.88%	0	-	7	6.14%	105	92.11%	o 1	0.88%		0
SOUTH OTTER	347	64	0	-	1	1.56%	2	3.12%	61	95.31%	0	-		0
SOUTH PALMYRA	485	94	0	-	1	1.06%	7	7.45%	86	91.49%	0	-		0
STAUNTON 1	1159	99		1.01%	4	4.04%		13.13%		79.80%		2.02%		0
STAUNTON 2	767	56			-	1.79%		7.14%		91.07%				0
STAUNTON 2 STAUNTON 3	936	76		-	2	2.63%		5.26%		90.79%		1.32%		0

		SIDENT BLICAN)		NITE	O STATES										
	Reg. Voters	Total Votes	RYAN L BINKLEY		RON DeSANTIS	6	NIKKI HA	ALEY	DONALD TRUMP	-	CHRIS CHRISTIE		Over votes	Und vote	-
STAUNTON 4	823	86	0	-	4	4.65%	11	12.79%	70	81.40%	1	1.16%		1	1
VIRDEN 1	1138	86	1	1.16%	2	2.33%	6	6.98%	75	87.21%	2	2.33%		0	6
VIRDEN 2	1021	102	0	-	3	2.94%	16	15.69%	81	79.41%	2	1.96%		0	4
WESTERN MOUND	192	28	0	-	0	-	3	10.71%	25	89.29%	0	-		0	0
Total	30757	4045	17	0.42%	97	2.40%	495	12.24%	3371	83.34%	65	1.61%		2	179

Date: 4/2/2024 Time: 1:56:42 PM CDT Page 74/148

		GRESSI BLICAN)	-	BTH DIS	TRICT RI	EPRES	SENTAT	IVE
	Der	T		-				
	Reg. Voters	Total Votes	CLATTE K	RBUC	JOSHUA LOYD		Over votes	Under votes
Jurisdiction Wide								1.0100
BARR	224	38	15	39.47%	23	60.53%	. () 10
BIRD	225	63	32	50.79%	31	49.21%	. () 14
BRIGHTON 1	924	91	36	39.56%	55	60.44%	. () 16
BRIGHTON 2	994	97	29	29.90%	68	70.10%	. () 15
BRIGHTON 3	857	108	40	37.04%	68	62.96%	. () 12
BRUSHY MOUND	549	111	55	49.55%	56	50.45%	. () 33
BUNKER HILL 1	717	70	24	34.29%	46	65.71%	. () 18
BUNKER HILL 2	734	73	20	27.40%	53	72.60%	. () 6
BUNKER HILL 3	720	71	30	42.25%	41	57.75%	. () 17
CAHOKIA 1	1014	86	30	34.88%	56	65.12%	. () 13
CAHOKIA 2	1072	77	29	37.66%	48	62.34%	. () 14
CARLINVILLE 1	982	181	84	46.41%	97	53.59%	. () 73
CARLINVILLE 2	746	119	72	60.50%	47	39.50%	. () 58
CARLINVILLE 3	970	156	84	53.85%	72	46.15%	. () 66
CARLINVILLE 4	817			53.06%	46	46.94%		
CARLINVILLE 5	637			58.33%	35	41.67%		
CHESTERFIELD	493		29	42.65%	39	57.35%		
DORCHESTER	1043			36.79%	67	63.21%		
GILLESPIE 1	778			59.18%	20	40.82%		
GILLESPIE 2	980			51.09%	45	48.91%		
GILLESPIE 3	749			36.54%	33	63.46%		
GIRARD 1	748			36.99%	46	63.01%		
GIRARD 2	610			39.71%	41	60.29%		
HILYARD	437			45.24%		54.76%		
HONEY POINT	125			56.25%	7	43.75%		
MT. OLIVE 1	720			42.86%		57.14%		
MT. OLIVE 2	778			32.00%		68.00%		
MT. OLIVE 3	350			49.06%		50.94%		
MT. OLIVE 4	366			35.71%		64.29%		
NILWOOD	394			47.14%	37	52.86%		
	633			58.33%	30	41.67%		
	548			36.59%	50 52	63.41%		
NORTH PALMYRA POLK	473			39.33%	52 54	60.67%		-
	218		35 11	39.33%	54 20	64.52%		
SCOTTVILLE				43.42%				
SHAWS POINT	391				43	56.58%		
SHIPMAN	873			34.00%		66.00%		
SOUTH OTTER	347			50.98%	25	49.02%		
SOUTH PALMYRA	485			50.57%		49.43%		-
STAUNTON 1	1159			33.72%		66.28%		-
STAUNTON 2	767			28.00%		72.00%		-
STAUNTON 3	936	67	16	23.88%	51	76.12%	. () 12